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� ��	��-�	  ���	2 � ���	 	���-�	�	��  � �7$�2 ;� " �� ���� ��	 � �� ��-�  ���"	 � ��
� ���� � ���� �	 ��	%����	��	2 � ����	 �	� �����	�2 	� ��	 	%�� ����� �������� ��	 �	
� 6������� �	 ��������	 �� ��� �	 ������ 	� �	 �	�������� <� " �� 	�����	 ��� ���� �	��	
 � �5�	 � ���	 ���� 	=	���� � ����	 ��	��-�	 �	���	 �	 ��� ����  "���� �� ���.��	�
� �-��	 �	 ����	 �	 ';��>	�2 �-��	 6��� �	�� �	 �	 � ?�!2 	� ���	����	� � 6� �����
�� ���� �� ������� �����	 � � �	� )� �>�� ,	� ������� �	� ������/������ 4 ��	%����	��	
���� ��/���	� � �� �	� ��6��	��	� @0A�
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���� ��	� 9�C7&�$7 @�A:� 7	� ������ ����� ��	��������	� ���� ��-� ���/�	��	� 	� ����
�	����	� 	��	���	��	�	�� ��� ����	������)�	 6���� �	 �	 �	����	� ����  "��� ��"	�����
�	 ���"	 �% �������������� �	��� 90���� �,�2 ���� � �	����	 �	 � ����-�	 ����	 �	�
����	� �������� ��	� �� � �����-��	: 	� ���� /�� ����  "	� � ���� ���	 ( � � ���2
 ���� )�	 �	 �5��-�	 �� ���	�� ���� 	� � ��	 �	����� �	 �	� �������������� �	���� 7 
�� /����� �	 ��	��	�/�	 �	 ����	������)�	 �	 �	����	 �	� �����D��	 � � �� �5��-�	 / ��
��� �� � �	� ��������� 4 ��	�����B�	�� ��� $ �� ��	 �	 �����	� ����	� 	� 6 ���	 �2
����  "��� �������� )�	 �	 �5��-�	 ���" �� �	���	� � �� /����� 	� � ���� ���� �	
����	������)�	 4 )�	�)�	� ���� ����	 ��-�� 7	� �������������� �	���2 ����	 ����	����B
��)�	 �	 �	����	 	� �	 �5��-�	 � ��	 �	����� ���� ����	��� � �� �	� �������  ��"�/�	�
������  � ��	�� �� ���	��	��� ��	�����B�	�� ��  	� 	� �� ��	 �	 ��"	����	�	�� 	�
� ������������ �	 � � ���	 ��� ��)�	2  ���� )�	 �������� ���� �	 ����	������)�	 � ��
�	� �������2 �	��  ��	�/� �	 	� �	�� �	���.� ���� .� �	� !��� ����� �	 "�	 �	�����	�2
;� � � �������  ���"	�	�� 4 � ���� �� �	 �	� �E��	�� �	�� �� ��-� �	 �	�%  ��2 ;� �
��� �	 ����	����� �� �� �C7&�$7 � �� �	 �����	 �	 �� " �� $�7$� ��� � �	��	  �%
� �� ����� �	� ������ ��� ��	������)�	��

&� � � ����2 ;	 ���� � ��� 	� ��� ��	�	�� ���� ��	 ����	 �	 �	�%  ��  � �&��
�F ;� � �������� �	� �� " �% � �� �C7&�$7 � �� � �� �	� ��� ��	� ��=��	���� &�
� �������	�2 ;� � ��� ������� �	�� �	 ���������	�� ���� ����)�	 �	� �����	� �� ����	 �
�	��� � �� � �����-��	� 7��������	�� ���� �	� �8 �����	�  ����  � ��� � ��-� �	 �����
 ��� <� � �� �	�	�� ��� �	����� /�	 �	 � ���	 	� �� �	 �	 ����6� ��������	 ���	�� ��	
 �% � ��/� ����� �	� �����	�  "	� 6 ���	 �% �	 � ������	��

&� � � ��-�	  "	� �	�  ���"���� �	����)�	�2 ;� � �	;���� 	� 0
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$�7$� ��� � ��5��)�	 �� )� �> ���� $"	� �� ��5����	� �� �����	 �	 ��	�����B
�	�� ��2 ����  "��� �������� )�	 � � ��	 �� )� �> ��� ���" �� G��	 �	����	  "	�
��	 ���	������	 �	 ������	 �	 � *	+2 �	 )�� �	� �� �� � �� ��-� ������ �� � � � �����
 �% " �	���  ���	��	� "	� �� �� �	" ����� �	��	 ����	  6 �� � ���	 �� �	����� �
!	���� �	���� ��� �	 ���	���	� �	 ��5��)�	 ��$�7$� @1A� � � � ����	2 ;� � �� " ����
��� ��	 ���"	��	 ����	 �	 � � ��	 �� ��� )�� �	� ���� � �������-�	�	��  ����� /�	
����)�	 �	 7(� 6��������	� 4 � ��	 ����������� �	� �	�% ����	� �	 � � ��	 �� ���
 ���� )�	 ����	� �	�  ���	� ������	� ��"	�����	� � �� �	 �����	 �	 �� " �� ��� ���
������	� � �� ��	 ���	 ���	���.)�	 ���� ;� � ��� �	 ��� ��	�� ������� � @8A�

<� � ���� ��	 ���	�� ���� �	 �	��	���	 ��=��	��	 	� � � ���� 	� �	;���� �� � ���� B
/�� ���� ����� ���� �	 ���	��	�� 	�� ���� ���  ���-� �	�  ��	 �% �	 ����> �	 �&�BCC
�� �7$�� <� � ��� ��� ���  � �7$� �	�� �� �����  ��� �	�� �� �	�%  �� 	� �	��2 ;� �
	� � �	����� /����� �	� ���� ����� �� ����B���	��	�� !C�� H �	 )�� ������� �� 	��	�B
��	��	�	�� 4 "	���	�2  "	� �� ��	 ���� �����	 ������� ��� �� �� ���� � �	����� /�����2
 � /�� 6��������	�	�� �� !C�� �	�� �� �	� ����	� �	 �����	�2 � ��  ���� 4 ���	�
�	� ��=��	��	� ��� � ����� 	� �	�  ������ ����� �	����)�	�  ������	�  � ���	��	��� <� �
�	����� ��� ��;���  � �7$� 	� �� �� �	�� �� 3 ���� �	 ������� �	�� ����� � �	�
����	� �	 �����	� �	 ������ <� �  ����  ����� �	�� �� �	��	 ������	 � � ���	� ��	
�	� ����	��� �� !C�� ���������� � � �	� �����	� 6� �I �� �	 ��C���1 	� �� �&$�

&� � � ��-�	2 ;� � 	� ��	 ��-� 6���	 ������ ���� � �� �	�  � �5�	� �	 ��5��)�	� $�
�	�� �� �����	 �	 ��5��)�	 �� ������� �	 �����2 ;	 �	 ���� �����	���2 	� ���� /�B
� ����  "	� �	� ����-��	� �� 7 /�� ����	 7	�����	B�����	� �	 ��&���	 ���5�	����)�	2
4 ������	 �	� ��������� ����� �	� ������ � 	� > �� ���� 	� 	� ����� ��	 �� �������
9��� 2 �����2 ���:�

<� � ����/����	�� ������ �	 ����	��	�2 � �� �	 �����	��2 �	�  ���"���� �	 �	��	���	
��"	�����	� � �� �	 � ��	 �	 � ���� /�� ���� ����� 	� ��� �	 �5�������	� ��	��	�/�	
�	 �	� �� " �% �	 �	��	���	� ,	� ������� �	�  ���"����  � �	�� �	 �����2  �� �� ��
����� �	 "�	 �� ���	��	�� )�	 �	�  � �5�	� �	 ��5��)�	2 ���� ��������	� � �� )� ��	
��/��� �����2 ���� ��	 	� ����� �	 .� ��� ����2 ;����	� 	�  ��	%	�
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BABAR Coordinate System

0 4m

Cryogenic
Chimney

Magnetic Shield
for DIRC

Bucking Coil
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y
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z
1149 1149

Instrumented
Flux Return (IFR))
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Superconducting
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Electromagnetic
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Drift Chamber
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Tracker (SVT)
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Endcap

Forward
End Plug
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�-�	 �	 �	������������ �	� �� �	� �� ���	�� 7	 �+�  ��� ���I� �	 � ��-�	 4 6������
�	� ��6��� ����� ������	� ���� � �	������������ �	� �� �	� �	� � ������	� �� ���	� 	�
���� � ���	���� ���� �	� "	��	% �	 ��������� �����2 ��-� �� ����� �����	� ������ !	
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" ��	 	���	 0K 	� ��� 7 ���������� �	 �� ���	 ��	�	�>�" 	�� �	 ������	 �	 ��3 �� ��
7 ��� � ���� 	���	 > ��� 	� ����� 	�� �	 ������	 �	 8 B ���� ��	 ��������� �	 1
����� 	� �	 ��3 B 4 8�0 ������ 7	 ���"��� �	 ��� � ���� �� !C�� 	�� ������ ��� � 
.���	 ��1� 7	� .���	� ��8 �����	�� � �	������������ � �� �	 !C�� ���� �"��	�	��
���� � #�#�2  "	� ��	��	�/�	 �	� �������������� �	��� ������� � �� ��	 6	�G��	 �	
�1�� �� � � � �����  � �	��� �	 ����	���	�	�� �	 �� �)�������� 	� �	 �# �� � �
� �����  � �	��� 	������

7 �	������������ �	� ��6��� ����� �� !C�� 	�� 	=	����	 ���" �� �	�%  ��������	�
�����	�� ���� 7	 ��	��	� 	�� / �� ��� ��	%�� ����� �� �	 � � �� �	 �	 �� ���	 ��	�	�B
>�" � � ��  ;���	�	�� �	 � %���� �	 "� ��	�/� ��	� 7	 ���/�	 �	 ������� �	����
 � ���� � 	�  � /���� �	 6��� 	�� �� �	�	�� 	%�� �� � � �� ;���	�	��� 7 ���/ /����� �	
�� )�	 �5����-�	 �	 �� �	 9�2 #2 �2 � 	� +: 	�� �/�	��	  ��-�  ;���	�	�� 	� � ���� ��
�	� 6�������� �	 �	����� �	 ���/ /����� ���� �� )�	 �5����-�	 	� 	� � ���� � ��  "	�
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�	� " �	��� �	 �� ���	 ��	�	�>�" 	� �� ���/�	 �	 ������� 	%�� ��� �	 �� ;���	�	��� 7	
�	�%�-�	  ��������	 )�� �	���	 ��� ��  ;���	�	�� �	 � %���� �	 "� ��	�/� ��	 �	
���"��	�	�� ���/ �2 	�� / �� ��� � ����	 	� �����	 �	 ��	��	�/�	 �	� ��6��� ����� ��
!C��� ����	� �	� �� �	� ���� �"��	�	�� ���� ���� �� ���	� ������ ���	�� � � �� ���B
�����	� 7� ;���	�	�� 6������ ��	 " �	�� �	 "� ��	�/� ��	 ���� �	� ���) � ������	� �2
#2 �2 � 	� +�

7	� ��6��� ����� �� !C�� ����  ���� ���/���	� 4 �	��	� �	�  ���	� ����B���	��	���
)�� � ������	�� 4 ����	�.� ���� �	� � ������	�  .� �	 �����	�2 ���� �� )�	 �� �	2 � 
���/ /����� ����	 �5����-�	 �	 � ������	 �����	� C� 	%���	 �����	��� ���/�� ����� )��
���� �� ���	� ���" �� �	� ������	� ���� �� ����� ������� ����	���.� �����

��! ���#�����(�� �� ��#���� �� ����)�� �� #���*������

����� '��
��(���� �� �)���
�����*	� �� ��
�	��

7	� / ��	� ��� ��	 �����	�� �	 8�
 �2 	� ���� ����������	� � �� �	� /�W�	� ����	B
� �� �� ���	 0� / ��	�� C� 5  0� /�W�	�  � ��� �2 ����	����� �� ���� 4 088 / ��	�2
)�� ����  �� ���	� ��� �	� �D��� ���� ���5���	 ����� 4 	�"���� #8 �� �	 �� %	 �	�
6 ���	 �%�

7 � ����	 �	 �������������� �	��� 	�� ��� ��	 	� 0� �	��	��� �����	�� ���2 �	B
����� ��  ���� #
� �,�� 7	� �,� ���� �	� &�7 
0�3�7'0K @1�A� C�� ��� ��� �������
 ��-� �	 ���/�	�% �	��� 	� 6������� �	� ����-�	� ���" ��� 
 � �� � �� 	� �� ��	 	N� B
���� )� ���)�	2 /���	 ���������� 	� �	��� 	� 6 �/�	 ���� �� 4 ���/�������� C�� ��� ��	
6���	 �5������)�	  "	� �� �� �-��	 �	 �#�� ��2 ����-�	�� 00 �� �	� �� ����.� ���� 	�
6��������	�� 4 �� � �� �	 ��
� 7� ���	�� ���� �	 � ��	 �	����� 9�	� �,� 6��������	��
4 ��	 " �	�� ��5	��	 �	 00��+: 	��  �����	 � � � ��E���� �$&� �����	� �� 00�
"��	� �� ���2 �� )�	 "��	  ���	�� �� 0� �������������� �	����

7���	������)�	 �	 �	����	 �	� �������������� �	��� 	�� ���� ���	 � �� �	� ��E����
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���� ��� ����������� 	� 	��	��� ��� ������� ������� ���������	��� � 	�� �;�

��/� ���.����� �� �� ������������ �����

����������� 4 ��	%����	�� �	 � ��"	 ��	 �� C� 5  �� ��E���� � � �	��	�� �����	� �� 08
� ��	� �	 �	����	 9 !�' ���� !C�� �����B	�� '� ��: 	� ��	 � ��	 �	 ����D�	 	� �	
�������� ���� 9!�� ���� !C�� ������� � ��:� 7	� !�'� �	I��"	�� 	� �� ��	�� �	�
���� �% �	 �8 �,�� 7	� �	�% ����	��� �	��� �% �	� � ��	� ���� �� �������  � ����)�	
������� @10A )�� 	=	���	 �� ����.� ���� 	� � ���	 	� 6���	 �	� ���� �% �	 # �,�
� �� �� �� �	��� ����"���	�  ;��� /�	 9�	 ������	 �	 1 �+:2 	� �� ������� ������� �!�
@1�A 4 0� "��	� �� �� ;���	 	�  " � �� �������  � ����)�	� 7	 �	��� �	���� � � �	
�!� 	�� ���� 	� �� �	 ��� ��	 ������	 	%�	��	 �	 3
�3 ,(M 	� 	�� ��� ��������� � �
���	�" ��	 �	 3�� �� ��� ��	 ���	��	 ��� �	 �	 1� #� � �� �� ��� �	 0� /���� 7	� �����	�
���� ���	� 	�  ��	��	 � �� ��	 6	�G��	 ���� �	� � � �-��	� ���� ����� �� /�	� 	���	
�8 �� 	� 0� #� ���� �	 �	� �� 	� 	���	 �8 �� 	� � #� ���� � � ��	��2 �	��  .� �	
���"��� G��	 ��� 	� �� �	  "	� �	 ���� � �	 ����	���	�	�� �	 ��"	 � 0 )�� ���	����	
	�"���� 0� � 0 #� ���� G��	 6����� 7	 �!� 	�� � ��-�	 �	��� �	 �	 ����	������)�	 ��
!C���

$.� �	 ����	�"	� �	� �	�6��� ��	� �	 ����	������)�	 "��B4B"�� �	 �� ���	�� ����
 ��	���	 �	 � ���������� 	� ���� �� /���� �	 6���2 �	� �!� ��� ��� �	��� ��� 4
�� �����	 ���� � � ��	 "	����� ���" �� �� ��	� �	� � �% ������� ���� �	 0 ,(M  "	�
�� �	��� ���� ��6���	�� 4 �!� �	��	 ���� ���� ����� �	  ���	����� �	 ������ �	 �	
����	� �	� � ��	� !�'�� $��-� ������ �� ���� ��� �	� � ��	�2 �	� �!��  " �	�� ��� �	����
�	 � ��-�	 ���	���"	 �� /��� ��� / �� �	 �	��� ���� ��B���� 4 �� ��	 �	 �����	��� �5�	�
�	 � ��/� ����� ���� ���� � ��	���� ���� �����

���� �� )�	 ��E����2 �	� �����	� �	��	����	� � � �	� !�'� ���� �� �����	� � � ��	
� ��	 �	 /�� ����� �	 �����	  � 6��� �� ��E���� 4 ��	 � ��	 �	 �����D�	 !�� )�� ���B
����)�	  "	� �	� �����	� �� �)��������� 9�	� �L,�2 ������ 4 ��	%����	�� �� ���	��	��:
�	��� �� ��������	 ����)�	 *B7C�J 6�������� �� 4 ��,(M� 7	� !��� 	� �L,� ����
�)����� �	 �� ���	��	��� 	� �	�	"	��� ����� � )�� ���"	�����	�� �	� ���� �% ����)�	�
	� ���� �% ��	����)�	�� &� ���� �	 � 6������� �	 �� ��������� �	� �����	�2 �	� !��
"������	�� �	� ���� �% �	 ����	���	�	�� �� �)��������� 	� �	� ��"	��	� ���� ��	� �	
���.��� ���� �	� � ��	� !�'��
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L� ���	� )�	 � ���� �� �	� � � �-��	� �	 6��������	�	�� �	� ��E���� 	� �	�
� ��	� 9 ���	�� ���� / ��	 �	�����2 ���� ��2 �	���� ���	2 	�����: ���� ��� 	� �����D���
� � &�C���

����� ����+������ �	 ���(�

����  "��� "� )�	 �	� �,� ����	�� �	�% �5�	� ����6��� ����� ���� � �	����B
�������� �	 �� ���	 ��	�	�>�" 
 � �������� �	� ������� ��� � ���6 �	 �	 ���	����� 	�
�	 �	��� �� ���"�	 �	� �������� C� 	��  ���� ��-� ������ �� �	 � ��/�	� ��������	�� � 
�	���	 �� �	���2 	� ������-�	�	��  .� �	 ������	� �	� 	=	�� 	%����	��� �	�� )�	 �	�
�� ��	�	��� �	� ���������� �	 ����	� �	 �����	�2 �	 � ��	� 	� ��	�"�����	�	���

7� ����� ���� �	� ������� ��	�	�>�" 4 ��	 �� �	 	�� / ��	 ��� � ��=��	��	 �2
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7	 �	���  ��	��� 	�� � ����� 4 � ���� �� �	��� �	 "�� �	 � � ������	 �� ���	 �� �����
�����	� ����� ;��)�� �% / ��	� �	 )� ��M 	� �� �	��� �	 ���� � ���� �	� �������
� �� � / ��	2 �	 �����	2 � ��"	2 ;��)�� � �������������� �	��� 7	 �	��� �	���� �	
��������	 ����	 


2� 	 2#)� � 2)�� � 2��* � 2� � 2� 9���:

�F 2#)� 	�� �	 �	��� �	���� � � �	 �!�2 2)�� 	�� �	 �	��� �� ����	���	�	�� �	
��"	 � 0  ������ 4 ���"��	�	��2 2��* 	�� �	 �	��� �� �����	�	�� 	���	 �	� � )�	��
����	������ 	� �	 ��������� ���	����� � � � !�(2 	� 2� 	� 2� ���� �	� ����� ��	� �	
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7 ��	��-�	 �� �	 �	 � � ��/� ���� �	 6 �� "��	 � � "��	� &��	 	�� �� ����	 4 �� ��	
���� �5��-�	 �	 0� ����	� 9��	 � � �	��	��: �����	� 4 � >(M )�� 	�"��	�� �	 � ����-�	
/�	�	 9$ � 
�� � : "	�� �	� �������������� �	���  � �� "	�� �	 � �L' 9� ��/� ����
7&!:� 7	� ����	� �	 ����" �� ��5��)�	�	�� 4 ��	%����	�� �� ���	��	��2 � ����-�	
	�� �� �����	 � � 8K � �	 ./�	� ����)�	�� � � � ��/� ����2 	�"���� �3��� ����	� �	
����-�	 ���� ������� 	� �������	�� �� � �% ������� ���� 	� ���/�	 �	 �����B��	������
��	�"���� $8�! � �� ����	 � �L' 9"��� � .���	 ��3:� �	��	 ��������	 �	��	� �	
���	����	� �	 �	��� ��5	�2 � � �,2  "	� ��	 	��	�� �	 ��0 ��� �	��	 � ��/� ���� 	��
	=	����	 	�"���� ���� �	� �	�% ;����� 7	� ����� ��	� �	 � ��/� ���� ���� ��-� �� /�	�
 "	� ��	 ����	����� �	���	��	 )�	 ��0 ��  � ����� ����	  ���	 �	 ����	� �	 �����	�
9"��� � .���	 ��� )�� �����	 � " �	�� �	� �	��� ��5	���� � � �	��	�� 	� 6������� ��
�	���:� $ �� )�	 �� ��	�	�� �	 � ��	 ����	������)�	 !�� �� !�'2 ��	 � ��/� ����
	�� ���	�� ��	 ���� �	� ����	� �	� ����� ��	� 	� ����	��	� �	� �	� ��� �������-)�	� �	�
� ��	�� 7	� � ��/� ����� 7&! ����  ���� �� ����� 	%��G�	�	�� ����	 ���� �	 �� �������
�	 ����	 � �� W�	 ��	������)�	 �	 �	����	� &� 	=	�2 � ������	 �	 �� )�	 "��	 ���" ��
G��	 �����D��	 ����"���	��	�	��2 �� 	�� 6 ���	 ������	� � �� � �� W�	 �	 ������ �� 	�
� ��	 9�������  � ����)�	2 �!�2 	�����:� �	��	 ��������	  " �� ��� �������	 ���	����	��
�	�� �� �	 �	��� �	�	�� �	� �!�� 	� �����

7 �	�%�-�	 �� �	 �	 � � ��/� ���� 	�� � ���	���� ���� �	 ���� �� ���/ � ��� �	�
�����	� �	 ��5��)�	2 4 � ���� �	 �� �	� �	 � ������	� �	���������	� � �� �	 ���	��	��2
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C� 	�� ������ �� �	 ���	� )�	 �	� ����� ��	� �	 ����� �	 	� �	� ���� �	��� ��� �%
���	��	�� �	 �����	��	 # � ��  ���� �� ����� �	 �	���� ��� ����� �	� ���	�� ��	�
���"	�� �� ����	�  .� )�	 �	�  �������	� ��5��)�	� ���	�� �����	�� ��	� �	 �����	��	
	� �� �����	 �	 �	���� ��� ����� �	�� �	�� 	��� W�	� �������������� �	 �	��	� ������B
�	�� ��	� � �� ��	%��	����� �	 �� �������	 @13A�

�� �����	��	 # 	��  ��	M �� ��	2 �	� 	��#� �	�"	�� G��	 � ������ � �� � ������	 �	�
�	����/ �����2 4 �� ��	 �	 � ��������	 ���	 �	 T� ������V � �� � )�	��	 �� ������	
)�	 �	�  �������	� ���	�����	� � �� � ������	 �� ���)�	 	� � �� � ������	 	=	���"	
���� �� �	�� 7	� 	��#� ����  ���� ����� �	�	�� ���	������ 4 ������	 ��5	 � ���� ����
�" ���� 4 �����	��	 # 	 5� 4 �� ��	 �	� �	����)�	� �� �����	 �	 �	���� ��� ����� 7	�
����	��� �	 � ����	 F '��#� G �����" �� �	� 	=	�� �	 �����	 ���� ��	 ���� ���	�B
����� 4 �� ��	 �	 ������	 ���B�	����/ ��"	 9?�! ��� ���	 �2 �-��	� �	 ����	 �	
?�!2 	�����:� 7 ������	 &=	���"	 �	� ?� �>� 7����� 9(?&�: 	�� ��-� �������	 � ��
�	 ��� ��	 �	� ��������� ����� �	� ������ '� �	� ������	� �	 �	��	��	�� � � �	 ��B
�	����	� ��������	�� �	� ����	��� �	 � ����	 �	 )�� 6 �� �	 �	�� 	���� ���� � �����	
��	��	�� ������)�	 � ���� �� ��	 �	� ����������� �	�  �������	� �	 ��������� �����

��	 �	 �	� ������	 	�� / ��	 ��� ���5����-�	 �	 � ������ ���� )�	 ����  �����
	%������	� ���� ����� , �� �� /���2 �	������ �� �	� ���� � �� �	� ��� ��� �	� �������B
�� ����� ���B�	�����)�	� 4 �	�% ����� �	� ������ '�

���� ���� ��������� E,� � ��� �������

!�� ������#���� &���� �� ������ ��"�������

<��)��4 ����	��2 ����  "��� �� ��� ���� ( �������	� ��"	����� � �� �	 � � �	 ����
�����	 ���� ����	���� 4 ������	 �	�  �/�	�� �� � ���	� �� ���� �	���� �����	 �	
�����	� ����� 6���	 	� ������������ �	� ����	������ �	 ?�! 4 ��	 /����	2 ����� ����	�
��� � .���	 1��2 ��( �������	� 	=	���6 ��	�� � 6���	 9�� 	�� ���������  ���� ����
�	�������	 �� ����%�� ���� �	 / ��	 ��	���	 �	 � ������	 @1KA: 
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 	�'�+ 91�8:

$"	� �	� ���� �	��� 


'� 	 ���2�3��,�-���*3,2��,�-� 91�3:

'� 	 ���2�2��,�-���*3,3��,�-� 91��:

7	� ������ ������ ��� 4 ���	� ��� �	 ���"	� ( �������	� 


Y �	� �����	� � 	� � ���� �	� �����	� �	 ����	���
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Y �� ���"	� ���� �	�� '� 9'� �� �� ������ �	�� ������ �2 ����  "	� �������	 � ����
�	� � ����� �������)�	�: 	�� ���������  "	� � �G�	 ��������	 �	 � "	�� )�	 '�

� ��  "	� ��	 �������	 �	 ����	�� ��=��	��	� &� 	=	�2 �	� ������ �	�� �� �	� �	�%
����	� �	 ���� ��� 6 �/�	� �����	� �	 ����	�� �	�"	�� 	� )�	�)�	 ����	 ��� ��	�
�	� ����	���2 	� �	�� "� �	� �� ��	� �	 ����	��� 
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Y 	� ���� �	 �����	��	 �	 �	���� ��� ���� #2 �	� ����� ��	� �	 ����� �	 	� 	� 	�

�	"�	��	�� 6������� �	 ��2 5	 � &� �� /�	��	 �	 ����	������ ?�!2 ����  ������
�����	�	�� 
 	� 	 � 	� 	� 	 ��

$ �	 ����� �	 � ����������2 � �	����	�� ���� �	 ��( �������	� 	=	���6 ��	�� � �
�����-�	� ���� �	"��� 	� 	=	� �	��� �����	 �	� �� �� ��	� �	 �	������ �	 �����	� �B
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���� 6���	 9?�!: 	� 	�	����� �����)�	 9&O: ������� ��� � .���	 1�1� 7�( �������	�
	�� ����� ����  "	� �������������� ������ �	��� �	������� $.� �	 ���� �	� � ����	2 �	B
� ����� ����	�� ������"	�� ��( �������	� 	� �	� ���� �	��� ��� �% � �� �	 � � ����	
�� ������� ��� ����� 
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0B L��� �	��� ���� ��B���� �� 


'� 	 ���2�3�,�-���3�2�,�- 91�
:

'� 	 ���2�2�,�-���3�3�,�- 91�0�:

�B L��� �	��� �	������ �	 ?�! 
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�

��6363�,�- 91�00:

'� 	 ���2�3�,�-
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�

��6362�,�- 91�0�:
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��6363�, �- 91�01:
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�
�

��6362�, �- 91�08:

1B L��� �	��� �	������ ��	����6 �/�	� 
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�

����6363�, �- 91�03:

'� 	 ���2�3�,�-

�
�

����6362�, �- 91�0�:

'� 	 ���2�2�,�-

�
�

����6363�,�- 91�0K:

'�� 	 ���2�3�,�-

�
�

����6362�,�- 91�0#:

���� G��	 �����	� �� ���	� )���� 	%���	  � ��� � � � ������	� ��=��	��	� ������ �	���
���	�� ��	� ���� ���"��� ��	��	�/�	 �	� ��������� ����� 6 �/�	��
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!�! 1�#����������

����  ����� ����	��	� �	� ������ 	��	���	�� �	 ���5����-�	 �	 � ������ ���� � �� �	
� � ����� � 	� �	 ���� �����	� 7	 �������	 �	 � ���� �	� ����	��� �	 � ����	 � �����)�	
"� �	� 6 ��	��� �	 6���	  ���� )�	 �	� 	%�	������ 	� ����	������ 4 � 6 ������ ����
� R"	2 ����	 �	 �� ��	�	�� �	� 	=	�� ��� 6 ������ /�	� �� � ����	 	� �����	 �	�
���	� ������ � �� ���� � .� �2 �	���� ����	���� � �� �	 � � � �������	� �	� ������[�� �����
	� �� ������� 	� > �� �	� ������ ' � �� � �	����� ���" ��	�

����� ������	
����

����  "��� "� )���� 	�� ���	�� ��	 �	 6 ��	 �� �	�� �� ���/�	 �� ����%�� �����
 .� �	 ���"��� ���	����	� �	� ����	��� �	 � ����	� � �����)�	�� ! �� ���5����-�	
�	 6 ������ ����2 �� ������	 )�	 �� �������	 �	 ��������� ���� ���� ����� ' 	� �	�%
������ ��	%����	 	� �� ������� �	 �	�% ���� ��� � �����)�	� �����	�� ���� �� �	�
���� ��� ������ � 6��� ���� ���� ����� 4 � ���� �� )� �> ��	�� �	�� 	� �� )� �> �
���"	���2 	� �	 �	���� � 6��� ���� ���� ����� "	� �� �	 ��� ������ ���� �� /����
"	��	�� � � �	��	 �5����-�	 �	���	 ��� �	 �������	 �	 �� ��� �	��	 �	 ����	�� � ��
�	)�	� �� ������	 )���� ���/�	� �	 )� �>� � �� �� �� � �����	� �	 ����	�� �	 �	 �����	
� � �	 � ��-�	 	=	���"	 4 �	� ������ ���� @1#A�

���� "	����� ���� ���� )���� ���"�	�� �	 ��� �	� �	� ����	����  "	� �������� ���� O
	%�	��	 9���	�  �������� �	 ����	��: ���� �	�)�	�� �	� �������� ��� ������ ���� �� O
��� ��	 ����� �� ��	 ���/ /����� �����	� ���  "	� �	 �	��	 �� �5��-�	2 �	� ����	����
 "	� �������� ���	��	 ���� O 9���	� ��������� �	 ����	��: �F � ���/ /����� 	�� /�	�
���� ������ ��	 9"��� .���	 1�8:� L� ���	� �	 ���� )�	 ���� �	��	��	� � ���������
�	 ���.�	�	�� �	 ����	��2 �	� �����	� �	 ����	�� �	� )� �>� ����� �� O ���"	�� G��	
���� ��/�	�  "	� �	�% �	�  ���	� )� �>� �� �5��-�	� �� H� 	�� �	 ���/�	 �������	 �	
����	���2 �	� ���	� ���� ��������� � � �� 6 ��	�� ��H��
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	� ������� 0�1� �� �������
 	� ������� 0�1�

$����2 ���� ��	 ��������� ���� �� � ���2 �	� ����	��� �	 � ����	 � �����)�	
F ���	'�	�� G ������"	�� � �� ���5����-�	 �	 � ������ ���� 


F ���	'�	�� G 	 F ��	���	�� GF �	���	� G 91�0
:

�, -��� 91���:

	 F �	���	�� GF ��	���	� G 91��0:

3�



����� 0����$�������� �� 1���2

7	 ����	�� 	� )� �> ���� ����	���� ���� /�	� �S� �	�������	 �	��� �	� ������
����	��� � �� ���� � .� �� $���� � �� �	�� ��� � � ��	 ����� ��� ���� �	� )� �>� "� 
��	 �� ��6��� ���� �	 ��	�M 	�� ���	�� ��	 @1
A 


� ������,�-� ������,�- 	 � ������,�-� ������,�- 91���:

��	���� ��	%	���	 �	� �� �� ��	� �	 � .���	 1�8� 7����� �	�� 4 ������	 �	�  �/�	�
'� )�� ������/�	  � �� �� ��	 	%�	��	 9 :  � 6���	 


� �,2*2�,�-���3�3�,�- 91��1:

�	� ���� �	�� ������/�	  ����  � �� �� ��	 ���	��	 9/:  ��-� �� ��6��� ���� �	
��	�M 


� �,2*2�,�-���3�3�,�- 	 � �,3�2�,�-���2*3�,�- 91��8:

! �� �	 �	���	� � �2 �	� ������ � �� �� �� � �����	� �	 ����	�� �	 ���� �������� )�	
�� � 	 �� �	� ����	���� ����  ���� ��������� � � �� 6 ��	�� ��H�2  "	� H� �� �� �	
���/�	 �	 ����	��� ���� "	����� ���� ���� )�	 H� �	�� G��	 ���� ����	 �� � � �-��	
	=	���6 �	 � ������	 ���� �	��� �����	 �	 �	�� ��	� ����	�������

����� ������3
����� ��� ������� �������

7 ��������	 �	 6 ������ ���� �-�	 � ���	��	�	�� 4 ����� �� ��	� �	 ���	� �	
��������� ����� 


0B !�������� ����� �	 �5�	 C 


7 ��	��-�	 �� ��	 �����	�� �	� ��������� ����� � �� �	�)�	��	� �	� ������ �� ����
�	�"	�� G��	 �������� ���	��	�	�� 4 � ���� ���� ���� �� �����	� �	 ����	��� �	 ���� �	�
���	�  �������� �	 ����	��� � � 	%	���	2 �� �������	 6 �������	 �� ���	 ��� �  ���

	�� �����	 � � 
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C+�
�
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���� F �

�	� �,*�	� GF  �	�����	 ��� G 91��3:

�	 ��	N��	�� �� 	��  ���� ����� � � 
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	� 91���:

�B !�������� ����� �	 �5�	 CC 


! �� �	��	 �	�%�-�	 �� ��	2 �	 ����� ������ 4 � ���� �� ���� �� 	�� �	���	� �	
���� �	� ���	� ��������� �	 ����	��� 7	� � � �% �	 ��������� ���� �� � � ��2 �F �
	�� ��	 ����� ��	 �� ������� ��� 6��� � ���	 �	 �	��	 �� ��	� 7� �������	 ������� 


�� �� � � ��� 	
C+�
�
"��"

�
���� F �	�����	� GF ��	�����	 �� G 91��K:

 "	� �� 
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�� 	 	� 

�

H�

	� 91��#:

�����	 �	�� �	� ����	� �	 �� ��	�� �	� ����� ��	� �	 ����� �	 	� 	� 	�2 �	 ��	N��	��
�� 	�� � �������-�	�	�� �	���/�	 4 �	�� �" �� ���� 9����% �	 �����	��	 �	 6 ������ ����
	� �"������� "	�� �	��	 ���	��	:  ���� )��4 �	� ������/������ ���B�	����/ ��"	� ������B
�	�� ��	� @8�A�

1B !�������� ����� �	 �5�	 CCC 


7 �	���-�	 �� ��	 �	�����	 �	� ��������� ����� ������	� � � �	� �� �� ��	�  ���B
����� 	� ��������� �	 ����	��2 �F �	�  �������	� �� 	� �� ���	�6-�	��� ��	�� � � 	%	���	
�	 � � �� ���	 �� �  ���� 7� �������	 �	 �	 ���	 	��  ���� ��	 ���/�� ���� �	
�5�	 


�� 
 A�� 91��
:

!�% 
����$ �� �������2������ 
.��������34���

&������ � ���	� �� ���� ���6�����	�� � �� � �������������	 �	� ��������� B
����� �	� ������ ' 	� ������ �� ������� 	� > �� 
 � � ����� ����2 �F � ����� ��	
����� 	�� ����	 � � �� � ����	�

�� �	 ������-�	 �	 �� ��� �	��	 �	 ����	�� � � W� 6���� 	� ���� ;����.	 ���5B
����-�	 �	 6 ������ ���� ���� �	� ����	����  �������� �	 ����	��2 ��	� �	 �	��	� �	
�	��	� )���� 	� 	�� �	 �G�	 ���� �	� ����	���� ��������� �	 ����	��� $����2 ������	
�	 �	� ����	����2 	� � �������	� �	� ��������� ����� � � � ���� �	��  �����	� �	�
����	��� ����  ������	� ����	 �������	����� 	� ����	 �	��������� �	 ���5����-�	 �	
6 ������ �����

����� /�(���	�� �� �������� �� �����
�

�	� ��������� ����� ���� �������	� � � �	� �� �������� 6��� �	�� �	� �� ����� ��	
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